A, B, I'" AYKEIOY Tedida 1 oné 4
Aokiuo Yo tn A', B, I'" TdéEn Avkeiov
13 AtrpiAiou 2008

2

1. Av 7y 6Aovg Tovg apBpotc ektog amd o 0 woydel X* Y _Y t0teTO0 Ok Py  givan
X
2 2 2,2 4
a a o 4
A 2L B. 2L r. 27 A LS g
e 4 a B CX,BZ

2. O mnBvoudg poag moAng ovénbnke katd 1200 kotoikovg o€ £va xpovo. LT GuVEYELD Hel®ONKE
katd 11%.H moAn €xel topa 32 xaroikovg Arydtepovg amd tov apykd mAndooud tmg. O apyikog
TANBLGLOG TG TaY

E. Koavéva and ta

A.1200 B. 11200 I'. 9968 A. 10000
TPONYOVLEVQL

1
3. To gupaddv tng empavelag evog kHov givarl To 3 oV gUPadov ¢ empdvelng vog dalov kKHPov.

O AOY0G TOV HYKOL TOV TPDOTOL KLPOL TTPOS TOV YKO TOL dEVTEPOV KVPOV eivan
1 1 1

1
E— B. — I. = A. —
22 7 y 5 E. 22

4. Atvstoum ocvvdpmon f(x) =x* -5 pe nedio opiopod A= —3,3 , 161e 10 1dio TV T T sivan

A 0<f(X)<9 B.-5<f(x)<4 TI.-5<f(x)<9 A.5<f(x)<9 E.0<f(x)<4

5. To gupaddv mov mepucheieron petald tov evbewv X =4, y=3 kot 4X+5y—-11=0 eivan

A. 6cm? B. 20cm? I. 10cm? A. 12cm? E. Kavéva a6 ta
TPOTYOVLEVA

6. O 100%™ 6pog g axorovbdiog 4,12,24,40,60,84,... civon

A. 22200 B. 10100 . 20200 A. 22100 E. 10000

7. O pkpdtepog mpdTog aptdudc mov Stapei Ty mapdotaon 37 4+5" sivar

A.2 B. 3 r. s A 11 E. Kavéva and ta
TPONYOVUEVQ

8. Av (3,2) givon éva onpeio g ypaeiknc mapdotaons me Y = f(X) moo and to tapakdtm givol to

, . , , , X+4
avTIoTO0 ONUEID TAVEO OTNV YPAPIKY TapdoTacT TG cuvaptnong g(x) =2- f {2 . [Tﬂ +6

A (2-3) B [10,—9 T, (2,10) A (6.-2) E.(-12)
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A, B, I'" AYKEIOY Tehida 2 ané 4

9. Méoa og tetpdywvo ABI'A elvan eyyeypappévo 166mhevpo tpiyovo ', N B

I'MN 6mmg eaivetor 610 SimAavd oynua .Av 1o eupfaddv Tov

TETPOYDOVOL givarl 1 16T TO gPPaddV TOL IGOTAEVPOL TPLYD®VOL giva:

. E. 4-243
4 3 V3

A 2J3-3 B.1—%§ T. V3 A V2

10. To minboc tv Tprydvev mov oynuatifovrol pe kopveég ta onueia (0,0), (1,0), (1,3), (4,3) éto1
wote 10 KAOe Tpiywvo va Exel epPaddv 1 etvan

A 4 B. 3 r. 2 A1 E. 0
11. Aivetaum ovvaptmon f pe tomo f(Xx) = 0 To medio opiopov ¢ eivat:
' Jx+2-2° '
A, —x,2 B. 0,2 I R—- 2 A 2,2 U 2,+0 E. -2,2

12. Av x+y=a, y+z=b kot X+2z=C 0 uécog 6pog tv X,Y,Z givat

a+b+c B a+b+c r a+b+c A a+b+c E. Agv pumopei va

A. ,
2 3 4 6 TPOGO0PIoTEL

13. Ta p,q xou r givar Oetikoi axépatot pe p<q, r>q.Av 0< P <1 t61€ 10 KAMdouo P Ba 10

Aépe «mpoton KAaoua. [1o1d and to mapakdto sivar Evo «TpdTo» KAAGHLOL.

A r B. q T r A P E. Koavéva and ta
q p P r TPOTYOVLEVQL
14, Y10 oyiua o ABC Tpiymvo sivar eyyeypopévo 6tov KokAo e A o
axtiva 4, AP 1L BC kot 1o onpeio X PBpiokerar move oto AC wote
BX =CX .Av n BX tépvet tov k0kAo 610 Q, T0TE TO PfKOG TOV
Tuuatog PQ sivat: .
-
B \Jc
P
A. 7 B. 6 r. 8 A. 10 E. 52
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A, B, I'" AYKEIOY Tehida 3 amé 4
o ue a=p
15. Av f o, B =<t a-p, puea>p , totenmyuqtov f 28,17 eivon
f f—-a,a jupusa<p

A 8 B. 0 r. 11 A. 5 E. 1

16. Agdopévou 6t Eyovpe a<b mota and Tig Mo Katw oyéoelg AEN givor aAnOng yuo OAeg Tig
TIWES TV @ Kot b mov kavoroovv v dobeica oyéon

A, -—a<l| B. —a>-b . —b?<a? A. —a® <b? E.O0<- a-b

17. Ze kdxho axtivog R emAéyovtor Tuyaio dvo onueio A,B. H mbBovotrta 1o pnirog g yopomg
AB va gtvan tovAdyiotov R giva:

A 1 B. 1 r 2 A 5 E. Kowévg anod to
2 3 3 6 TpoNnyovHEVA
18. To ABI'O givon tetpdymvo mhevpdg 1 ,
ka1l 1o A glvar to pécov tov O
H e&lowon ¢ gvbeiag (g) eivan : A B
(e)
A, x+y=1 B. x+y:1 I y=2x A 2x+y=1 E. y=2x-1
2
19. Av sivar X* +3x+2 <0 xou f(X)=x*-3x+2 118
A0<f(X)<6 B. f(x)zg I f(x)>12 A F()>0 E. 6<f(x) <12 W

20. Me ta povoikd 6pyova KiBdpa, provlovkt Ko froil o oynuaticovpe 4pein opynotpo otV

omoia Ba vTapyovVV 2 TOLVALYIGTOV d10POPETIKA Opyava. To TANB0¢ TéTolwy opyNoTPOV givor

A, 12 B. 15 r. 11 A. 14 E. 13

21. Atveton opBoydvio kot 1cookerég Tpiyovo ABIT e AB=AI'= Xx.
Av M xon N ta péca tov mievpov Al kot AB avtictoya

10T€ 10 EUPAOOV TOV CKLUGUEVOD TPLYDVOL gival:

A X B x2\2 X2 x2\2 X2
6 6 T 12 24 24

KYTIPTIAKH MAOHMATIKH ETAIPEIA 9" MAOHMATIKH OAYMTIIAAA 2008



A, B, I'" AYKEIOY Tehida 4 omé 4

22.  Av f(X)=3x"+4x+5, 11N o0 ke R £t01 dote 1 ypagiky mopdotoon g f(X—K) va
etvatl GUUUETPIKN ®G TTPOg ToV Y-GEova giva:
2 2 4

A = B. —— r.o A.—4 E. ——
3 3 3

23. O opOuog N =37 —2.2007 -1 Siupeitor pe

E. Koavéva omd ta

A. 3 B.4 r.5 A.6 ,
TpornyovUEV
24, O AOy0¢ Tov gUPadoD TOL TETPUYDVOL EYYEYPUUUEVOD GE £Va, NUKVKALO akTivag R mpog to
eUPAdOV TOV TETPAYDVOV EYYEYPOUUUEVOL GE OAOKANPO TOV KUKAO aktivag R sivat:
Al B.2 r. 2 a3 E >
2 3 5 4 5
25. To ywvopevo 15° - 28° .55 givou axépoiog optdudc, Tov omoiov ta edevTaio yneio sivon
unodevika. To mAn0og ovT®V TV PndevIK®V eivar:
A. 6 B. 8 r. 11 A 12 E. 19

26. Xt0 oynuo gaivetol nukHKAo
dwpétpov AB=6Cm pe kévipo 10 K
KoL NHUKVKAL0 KEVTPOU B Ko aktivag
1cm.Av n kown gpamtopévn EF tov :
dv0 NuikvkAlov téuvetl v evbeio AB
oto onueio H, to euPaddv tov tprydvov

KEH eivau: F
A. 9cm? B. 55 cm? T. icm A. 10cm? E. 12cm?

27. H ioyvpn vrdbeon tov Goldbach wyvpiletor 611 «xébe aképarog peyoldtepog tov 7 umopei va,
YPOPel MG TO ABPOIGHA OVO SLUPOPETIKMV TPAOTOV aplOLdVY. 10 TETO1EC aVamUPAGTAGELS TOV
apBuov 126 n peyaddtepn dvvarn 010popd HETAED TV dV0 TPOTOV aPlOU®VY eivat:

A. 112 B. 100 I.92 A. 88 E. 80

28. Aidovtor dvo moapdAinAeg evbeieg oto eminedo pe eElomoelg 4x—3y—7=0
kol 8x—6y+11=0 . Tote 10 guPadd KAbe TETPAYDOVOL OV £XEL TIG OVO AMEVOVTL TAEVPES

TOV 1 (ol TAVE oty TpdT vbeio Kot v AN Téve ot dedtepn gvbeia elvar:
(o€ TETPAYOVIKES LOVADEQ)

A, 625 B. 5,76 I'. 16 A. 7,29 E.9

29.  Av r givar to vmOrowmo g dwipeong Tov kabevog amd tovg apfpovg 1059, 1417, 2312 s
0V apdpov d, tote N dopopd d-r givor:

Al B. 15 r. 179 A. d-15 E. d-1

30, Av f(x)=2

_12 won f2(x)=f(f(x)), f3(x)=f(F?(x)),..., F"(X)=f(f"*(x)), 6mov n

aképatog pe N >1, yua moleg Tpég tov N ioyder n oxéon f"(x) = f(X) yo kabe Tuf Tov X

A. 10 0Aeg T1g B. yw 116 I yio tigmepurtéc A, T n:n=3K,émovk eivai
TIES TOL N aprieg TWWEGTOL N KOpL Tin . Qetixdg axépaiog
TIWEG TOV N oLV N,

- Anavtiosl Epwtioswv
Ep. [ [2 [ 3] 4 [ 5 | 6 [ 1 I 8] 9 [10| 11[12[13] 14]15[16[1?]18]19[20[21]22[23|24[25|26]2?[28|29]30
Epfafe[r[rA[rA[Efafafar [ [A[T[E[E[A[E[A[s[r [a[r[5[a 5 [A]
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1. For all nonzero real numbers we define x*y=2— . Then a* (b*c) equals
X

2 2 2 2 4
ab B. oczc r bc c 2oc . c
c b o b ab?

2. The population of a town increased by 1200 citizens during one year. Later on is decreased by
11%. The town now has 32 citizens less than the original number. The original population

was

A.1200 B. 11200 I'. 9968 A. 10000 E. None of these

1
3. The surface area of a cube equals to 5 the surface area of a second cube.

The ratio of the volume of the first cube to the volume of the second one is

A —— B L r. 1 A

1
2 72 % % E. 242

4. Given the function f(x)=x’-5 with domain A4 =[-3,3], the range of f is

A. 0<f(x)<9  B.-5<f(x)<4 T.-5<f(x)<9 A.5<f(x)<9  E.0<f(x)<4

5. The area of the region enclosed by the lines x=4, y=3 and 4x+5y—-11=0 1s

A. 6cm’ B. 20cm’ . 10cm’ A. 12cm? E. None of these

6. The 100™ term of the sequence 4, 12, 24, 40, 60, 84,... is

A. 22200 B. 10100 I'.20200 A. 22100 E. 10000

7. The smallest prime number that divides the number 3" +5'" is

A. 2 B. 3 Ir. 5 A. 11 E. None of these
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8. The point (3,2) lies on the graph of y = f(x). Which of the following is the corresponding point

that lies on the graph of the function g(x)= 2.f{2.(x;4ﬂ +6

A. (-2,-3 A. (6,-2 E.(-1,2
( ) B. (10,—1] I. (1,10] (6-2) ¢12)
2 2
9. In the figure, the equilateral triangle CMN is inscribed in the square A N B
ABCD. If the area of the square is 1, then the area of the
triangle equals to
M
D Cc
A 243-3 J3 NG 2 E. 4-2\3

B. 1-— r. — A —
3 4 3

10. The number of triangles with area 1 and with vertices any three points from

(0,0), (1,0), (1,3), (4,3) is

A 4 B. 3 r. 2 A1 E. 0

11. Given the function f such that f(x) = , the domain of f is

10
Vx+2-2

A. (-»,2] B. [0,2] . R-{2} A [-22)U(2,4+0) E.(-2,2)

12. If x+y=a, y+z=>b and x+z =c, the arithmetic mean of x,y,z is

A a+b+c B. a+b+c r a+b+c A a+b+c E. Impossible to
2 3 4 6 find
13. p,q and r are positive integers, p<gq, r>q.If 0< P 1 then £ isa proper fraction.
q

Which one of the following is a proper fraction?

A. P E. None of these
r

Q|
AN
N
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14. In the figure the triangle ABC is inscribed in the circle with A a

radius 4, AP 1 BC and the point X lies on AC such that BX =CX .
If BX meets the circle at Q, the length of PQ is
-
B \ J c
P

A. 7 B. 6 r. 8 A. 10 E. 52

a ue a=p
15. If f(a,B)=1f(a-B.B) pea>p , thevalueof f(2817) is

f(B-a,a) pea<p

A 8 B. 0 r. 11 A S E. 1

16. If a <b, which of the following is false for all a and b ?

A —a<|p B. —a>-b r. -b’<ad’ A a’ <l E. 0<—(a-b)

17. Two random points A, B lay on a circle of radius R. The probability the length of the chord AB to
be at least R is

A. % B. % I. % A. % E. None of these
18. ABTO is a square of side 1 and A is ,
the midpoint of OI'.
The equation of the line (¢) is A 8
©
A x+y=1 . y=2x A 2x+y=1 E. y=2x-1

1
B. x+y=—
Y73
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19. If x*+3x+2<0 and f(x)=x"-3x+2, then

A.0< f(x)<6  B. f(x)Z% . f(x)>12 A f(x)>0 E. 6< f(x)<12

20. Using the musical instruments guitar, bouzouki and violent we form orchestras of 4 people,

so that each orchestra has at least two different instruments .The number of such orchestras is

A 12 B. 15 I. 11 A. 14 E. 13

21.  Given the right and isosceles triangle ABC with AB=AC=x
If M and N are midpoints of the sides AC and AB respectively,

then the area of shaded triangle is

2 2 2 2
X V2 r. - A X2 E.X
6 12 24 24

2
A = B.
6

22. If f(x)=3x"+4x+5,the value of k R such that the graph of f(x—k) be symmetrical to

y-axes is
I. A. -4
Al s 2 0 g 4
3 3 3

23. The number N =3*""-2.2007-1 is divided by

A. 3 B. 4 .5 A.6 E. None of these

24.  The ratio of the area of the square is inscribed in a semicircle of radius R to the area of a square

inscribed in the circle of radius R is

AL B. 2 r.2 A E.>
2 3 5 4 5
25.  The product of 15°-28°-55"" is an integer number whose last digits are zeros.
How many are these zeros?
A 6 B. 8 r. 11 A 12 E. 19
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26. The figure shows a semicircle with

diameter AB=6cm centre K, and a
smaller semicircle with centre B and ¢
radius 1cm.If the common tangent

EF of the two semicircles intersect the F

line AB at the point H, the area of the  * “ ¢ s O
triangle KEH is

A. 9cm’ B. 5\/5 cm’ I. A. 10cm® E. 12cm?

"5
—Ccm
4

27. The fundamental principal of Goldbach states that «every integer greater than 7 can be written as
the sum of two distinct prime numbers». For the integer number 126, written as the sum of two

prime numbers, the greatest difference between these two prime numbers is

A. 112 B. 100 I.92 A. 88 E. 80

28.  Two parallel lines with equations 4x—3y-7=0 and 8x—-6y+11=0 are given.
The area of any square which has its two opposite sides, each on each of the two parallel lines
is (in square units)

A 625 B. 5,76 r.16 A. 7,29 E 9

29. If ris the remainder of the division when each of the following numbers 1059, 1417, 2312 is
divided by d, then the difference d-r is

Al B. 15 Ir. 179 A. d-15 E. d-1

30.  If f(x)=

222 ad W= S 0= W) es )= (770, where

is a integer number with »n >1, for what values of » the relationship f"(x)= f(x) is true

for every value of x ?

A. for all B. for all I'. for all odd A. For no . {n :n=3k,wherekisa }
values of n even values values of n. value of n. . positive int eger

of n

Anavtnoel Epwinoswv

Ep.[1] 23] 4]5]6] 78] 9[10]11[12[13[ 14 15 16] 17] 18] 19]20] 21] 22] 23] 24] 25] 26 27] 28] 29] 30

Ep jaefrjrjafrjalejajajafr e [AfreE[ejafejae|rjafreafa[s|a]
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